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(10%a) T BExplain the following terms asseciated with a relational databasc;
+  Lhe relationship among characters. records, attributes, table, database.
+ Data dictionary

« The differences between a Gle system and a database,

(1N%) 8. Driefly comparg the following iteras:
+ Sequentiab acoess vs directrandom aceess
v FLOPS vy MIPS
+ Volatile vs non-volatile memories
+ Eyntax error vs semnantics ermror

+ compiler vs interpreter
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(3%, Y Compare the usape of quedgue, stack, array, linked list, doubly linked lisc (rive an usage

example for cach one when one 15 more appropnate than others

1T 100 Corvert the following numbers aceording 1o the requirements:
¢ 0 AT, {Hexadecimal ) o BCE?
e £1001T D1 01011 gy to hexadecimal
v 3127, (8-basedwo Hexadecimal
« 24% (Tikbased) o octal {B-based)
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char name{ 507
s dex:

puts ' Enter your namw @ "),

getsiname);

for tdex = 0; dex < sirlen{name); dex++)

printfi “Acddr = %50 char - "% - % 3dint
& narme|dex |, name{dex ], name[dex]}),
}
o 82 AT WA "Enter vour name ¢ "W - o B A G 5P H

Address — 2380 char - "E” - 69

RS LT AR R FERY

(% 12 G| T 8lE %
slatic char s7T|} = "Titanic was called the ship of dreams”;
TR G R RERY
(a) prmd "esn, 57
(D1 prantf " Yasan. &s 100

() prantf "esn”, s7T+12 )

(L0%0Y L3, Write a function transposs matrix thal takes as arguments @ 423 mattis and a 3% 4 matyix.

Have the functton ranspose the 4 X 5 mateix and store the results ino the 5% 4 matnix,
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V14, iR AR B FORTRAN Statement A 25 c a & 1 3% 2 30 0 59 {0 BY BE & T -

C rreerrraressr SUBROUTING SELECTION  *#ressstsrurs
C .
i PERFFORMS A SELECTION SURT
C
) NPATA REQUIRED: NONE
L RESULTS RETURNED: NONKE
C
C LOCAL VARIABLES:
C
C VAR )Y =ARRAY TO BE SORTED
L‘. NUM =NUMBER OF ELEMFNTS TN VAR ()
C
(C e BODY OF SELECT
(.

REAL VAR(20)

READ {3,*} (VAR(]), }=1.100

NUM = 10

DO 20 =], NUM - 1}
e
(. Set Ininal Element as Smallest

SMALL {a)

K=1
C Search for smallest Element

DO 10 )=[+1, KNUM

ing B THEN
{c)
K=
_{dy
(L0 I - N

i SWTTCH

(£}
g}
200
DO (i)
WRITE(6,*) VAR(K}
VI )
STOP

END




